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1) Antonym of TENDER

DIFFICULT
TEPID
LEONINE
HARDENED

vl
2
3
4

N— N N N

4T : Tender - 949, (@TaeT| Option WS F4 hardened - ¥& 934, Leonine - 1.3
37, tepid - e B, difficult - 331 57018 IS BB a |

2) CESSATION OF ARMS BEFORE A FORMAL TREATY IS SIGNED DURING WAR

1) TRUCE

v 2) ARMISTICE
3) RETREAT
4) ACCORD

AT = Truce - SARP Y& [RS1 Accord - IRERE, Armistice - AR Ta [Kafo 5 |
Retreat - g 2071 Wi T& bR SIS (@Ical ReTg i 91 8o sk OISt cessation
of arms 3T truce I1 FERNT YRS IRDI FAT 27|

3) THE RECENT NEPAL EARTHQUAKE IN APRIL 2015 IS ALSO KNOWN AS THE

1) POKHRA EARTHQUAKE
2) CHITWAN EARTHQUAKE
v 3) GORKHA EARTHQUAKE
4) NAGARBHUM EARTHQUAKE

A : The Gorkha Earthquake in Nepal occurred on 25 April 2015 and had a
magnitude of 7.6. Its epicenter was about 76km northwest of the capital
Kathmandu. It was followed by more than 300 aftershocks.

4) WHICH OF THE FOLLOWING PRODUCES THE BEST QUALITY GRAPHICS
REPRODUCTION ?

1) INKJET PRINTER
2) DOT MATRIX PRINTER
v 3) PLOTTER



4) LASER PRINTER

A : The correct answer is Plotter. Plotter produces the best quality graphics
reproduction. Plotter produces the best quality graphics reproduction. The
plotter is a computer printer for printing vector graphics.

5) INSTRUCTIONS AND MEMORY ADDRESS ARE REPRESENTED BY

BINARY WORD
BINARY CODES
CHARACTER CODE
PARITY BIT

1)
v 2)
3)
4)

A : Instructions and memory addresses are represented by binary codes.

In computing, a memory address is a reference to a specific memory
location used at various levels by software and hardware. Memory addresses
are fixed-length sequences of digits conventionally displayed and
manipulated as unsigned integers.

ASCII code. The American Standard Code for Information Interchange
(ASCII), uses a 7-bit binary code to represent text and other characters within
computers, communications equipment, and other devices. Each letter or
symbol is assigned a number from 0 to 127.

6)IFA+B=2CANDC + D =2A, THEN

v1l)A+C=B+D
2)A+C=2D
3) A+D=B+C
4) A+ C=2B

A Given: A+ B =2C........ (1)
andC+D=2A......... (2)

Adding (1) and (2) we get :
A+B+C+D=2C+2A=>=>B+D=A+C.

7) BRA-2CIe' (@1 4R BN ?

1) SIS
2) (AT
v 3) W5z



4) ST

AT : AT, BT HAO) BTG AT IEPTH TG (Sbr8b - Yow) | IS (Sb-ag), A
J3A (O699), BIRE - 2OTO (Sbrab) I GRATE (SbA») - TR TR DS HofRe Soramsi
(T STHI0 NGO [Pa RRTGIR ST \3 STPET ‘SR - 2GR0’ SAATSI0 B o 1S)
By

8) fdtba P1d AT 3% ?

1) faibd, qUfafe
2) SIIb I, TR
v 3) A5, IFqIP
4) S, TR

IR : FABI . (ROTET #7) 5570, T, THO, SIS, ARSHO |
IR . (RoRy «m) IATARIRPK, ©RCod A P, F2ro9 Wiy |

9) ‘BHTGIR PHRY* P I5AT ?

AN : IR e O QI BEUTIST RIS ‘SHENGIR IIJ,” T1 ddbd S ARG 2 |
o] /PP BT BIYIT (TrH 2D T d»8¢, A WD SO ), Rifd feter™) < a1 o
R, aTad AN IR | FRIOR APt {5 s a3e FFRRaY ez 8 2fJ
AR(Zd | O/ PROR FoTo AR, GII-528T 7L CHRIR KA1, O-RETHGR 2T (1T |

10) 3 5 sTRGaTeT ©1R 3 37 WM 231 P 513 @' - (PTd 40 51 2

NN : SIITRT FAO IR I 7L GROG ARGTICR SGIA \3 DTS
(STRITTATGR] B et O 2R TSI | QS STICAR (APXTE] 2002 SISO FTar e o,
TAR SIRIITAT, O PHCPA, TR ToARS 30N P 2015 WO | (TS 5P
sTIRG 51T A1 SO BT IR IEZ - 3 ST I3, $6 I WM 2131 A 5%l @ |
afd sTioaTe S T |




11) FIIEIT 7 R <17 2

AT : QFTD R RO TREQAT6T TP RANOTLF X7 1 R0 X% I | ARG T
QFCO W, T, T, A, TH, 77, d, a1, [, 7 2SS Sorsisiae & Fe <" @ a1 - I3
1 AT T AMERo | O <R [ <7 tofRieos 3 Sorsisfare INT0 o @1l
TR | (TH - WG — *XHDI BFCO A - BoFMD TF T ARG X1 267 - WA | ARK QA 51
MR QFCS T - QLT B AP, TR SFF R BN I T - [P SIS IS
O @A I |

12) faorfer @ erpfod </ 2

T ; (-5 <R A0 W \3 IRRIRP O QP3, O GNP X7 T | WA, AT
ATFIT TR A RIS 27 a1, ST QS > 0T |

13) OO 513 "TA85PIOR T I - IR e (TIPS

1) AT SRPOIAT

2) fe1 wemy

3) GH

v 4) STIZEICS ST Sy

AT SRS ST a1t RS st A «iffoo e, asod et Wiz, s
APTPIF \3 FTSAMGRT AR dbR FARTE HAGT @RS 2RFR T1o IR | fg5Pror a1 75
B @13 Bowa f5f Koo «1iRkibo | safRam sw@e s g1 SR @RRSTs 58T
ISR PR @B a3e SRR [ =7

14) “eftsiiog™Re’ SR eI -

1) AT STPI
2) SRPTF AT
v 3) HIfoRp ICATATLIT
)

4) TSI TGP 3T



AT 2 AT SOR KA SRR |ifae Icmeonar 3bw Ko siwsg ‘aitsifoarise:
(>»V4) | FIETETE 51tk [RUTo 710 294Td 5k foy \3 A1 |

15) 'REM-F' BATER TR T 1 2

) 38T @I
) SR
EGIGEEIG!
) afem

v 1

W N

4

AT : W - 59 SoraneR TR 9 3876 @0 | SI] TR @0 DS 0 SO
BR52T5T SRS | 2T \3 @I S AICECE Tfoifs FR Fama o e SR
AR IGHT L& I3 BATH T - @A PP P11  SAIK Fo1 [ |

16) ST (SMRPI “A* FeT (@1 SR IO ?

1) @&
v 2)

3) e

4) TR

AT 2 TN I FATTRROTE FHF (M IS AT FTETSAN BT A1 Sow S AYT AFTNG
2| 1 ©INH A 3 SRS 2RS0T 9 16 I8 AW Reak [ifes o oqfte zaz |

17) {367 @19 513 IR 31 Afbw T 2

BIGKIl
G Bt
TS 19T
IR

]
2
v 3
4

~— ~— ~— ~—

AT : (TGN T XTI AV TATGH SeA 2 AT I TS AP 35 [T6r
IRIs 1 fF Y0 REIER GIb FIT (AN, 5000 ) TR AR TS (WP APTTS
|

18) "SR FTCZ AT PT (T I3 ?



AT : “FOR ICZ LGP’ 2ETD Il PERCZA T TKIK 19 *R~S T va 6 Ricaranes 13
AP FRCZA | 200¢ S APTRG AMIBICAR T FO-T0, OR QB SFIo AP I3 | Yobr@
S AR APTCE I THP APTRIG RN IS WS 13| R AT 55 33, TR
JICZ G, IBT SHaTerod RO, 5718 RoP ST , J1ad Jd, HIad 5T QI LA Re,
AR TG0 Ts1-Ms1g , PRISS Wd S1RE2[ |, 51 ST I 3 518 agadiy \3
R |

19) GPIUTT F5Y (IR P (P ICT ©F ITH' - I3 W “18fe 5 fong

—

) CRTTST
2) sTimTsy
)

)

3) TRACHRd OPTTII<
v 4) O TG I

AT : O PG DI (» AT St /ATRET VOCT BT b - b GLBH, Y0 fBretd
PG T -SROR AT SO | O (@141 PROR PP AT

I 352

IR T2

(P I O IFI?
T TIRB TP
SIS K

20) PTAA P57 BT SIS PO - 13 IT 'ITAE' @I PR @1 Fohs ?

AT 2 oG /&S ‘T’ BT SITOR X 2\3TR IRCT Q57 IRP 27 WP a8 [f<per
IR S qAIQ -0 ' ' 30N NOhF T& 2| BAIRAT ; WK (F1d) - T QTS FC T3 |
9 IO @6 (@B |

21) 'S1aba’ 6P @ 6l FEd ?



AT : STHTHEOA ORI Wy G IS 6T ‘Jaiba’ | 9IRS TG 737 - AN, 784 -
AITRET \3 ST2STRY (GoaT SP O P62 O F0C |

22) SOMETHING THAT BECOMES OUTDATED

1) OLD

2) USELESS
v 3) OBSOLETE

4) ANCIENT

T : "Obsolete" means that something is no longer in use or relevant
because it has been replaced by newer or more advanced alternatives. It
refers to something that is outdated, outmoded, or no longer effective or
valid.

23) MEN HAVE BEEN KNOWN HOW IMPORTANT THE SUN IS TO THEM.(Active
form of it)

1) MEN HAVE TO KNOWN LONG

2) MEN HAD LONG KNOWN

3) MEN HAVE BEEN KNOWING

v 4) MEN HAVE LONG KNOWN

AN : long known - A3 TCST (AP T [AIPIHI Main clause 0 o787 Fa1 Q@R I @
QYT ‘subject’ ATHTES (R | 5712 Main clause WGP Active voice structure
WURl 71 1 single word Adverb Ra0 Hv + Adv + pv - SGIRI X{ |

24) AS NO ONE KNOWS THE TRUTH AS FULLY AS HIM , NO ONE BUT HIM CAN
PROVIDE THE TESTIMONY .

1) AS FULLY AS HIS , NO ONE BUT HIM

v 2) AS FULLY AS HE , NO ONE BUT HIM
3) AS FULLY AS HE DOES , NO ONE BUT HE ALONE
4) AS FULLY AS HE DOES , NOT ONE BUT HIM

~— N N S

T 1 MG AT T WA W Clause 2991 OIS subject/he I5K 1 Option ‘C’ S
R PRIV GIITE no one but WL alone FTSTOR WY IS R XY ‘no one but’ -
W1 alone IZ0 XA 11 No one but W3 */?R3 pronoun 43 subjective form IRTO
| QTR TIPS ‘he’ <0 AJ |

25) Official Misconduct means''

1) MALEFACTOR



v 2) MALFEASANCE
3) MALADMINISTRATIONS
4) MALTREATMENT

AT : Malfeasance (F3d) @Y - official misconduct . Malefactor - TR
Maltreatment - SWBIT maladministration - 78XTd

26) Antonyms of INERT___

1) TIGHT

2) IMMOBILE
v 3) MOVING

4) VOID

AT : Inert - SO/ | Option SR 84T tight - WAL 334, immobile - 516314,
G | void - TRIIPA, 16T | moving - 5813, STRoAIe @i i (@ Inert U9t moving
g RO | 513 B d.

27) PLEASE GIVE HIM MEDICINES IF HIS TEMPERATURE WILL RISE .

1) IF HIS TEMPERATURE WOULD RISE
2) UNLESS HIS TEMPERATURE RISE

v 3) IF HIS TEMPERATURE RISE
4) IF HIS TEMPERATURE WILL RISE

~— N N S

A : if T I incase 1 provide that Q7% AR B4 zero condition T Wi G
T59e® clausefd present indifinite - 4 I 278 AT temperature & PR I *XCH
medicine UK PAT I AR | SFOK1R QT zero condition T if his temperature rises
<IN |

28) OBTUSE - FIND THE WORD THAT CONVEYS THE SAME MEANING

1) DIFFICULT

2) CONCEALED
v 3) BLUNT

4) INTERFERING

AN : Obtuse - (ofor| Option ETR &I difficult - 3134, interfering - BCFIETP,
Concealed - ST, blunt - (SToT | 5ORTR 53T TG d |

29) AVARICE - FIND THE WORD THAT CONVEYS THE SAME MEANING
1) CONSERVATION



v 2) CUPIDITY
3) INDULGENCE
4) GENEROSITY

14T : Avarice - W feTsT | Option SR 84T Generosity - I7d5ol, 8291 Conservation
- FFFTeTol | indulgence - o7 ¢l, cupidity - O o781 | ©d @ (i@ Avarice \3
Generosity - < ReRIonE, 53T 6 b |

30) LIMPID - FIND THE WORD THAT CONVEYS THE SAME MEANING

1) DARK
2) DEAR

v 3) TRANSPARENT
4) MOIST

AT : Limpid - 392, [d9e1 | Option SETR FE moist - hoico, (oo | dear - o9, dark
- WEPH, Transparent - T2 | 5{od1R 53T B ¢ |

31) MYSTICAL - FIND THE WORD THAT CONVEYS THE SAME MEANING

1) VAGUE
2) IMAGINARY
3) PROPHETIC
v 4) SPIRITUALLY SYMBOLIC

~— N N S

TN : Mystical - I25789 | Spiritually - SIfEF | Vague - 92| Prophetic - I3 |
SPIRITUALLY SYMBOLIC-TNGIISIR 251p!

32) Select from the alternative, the word that conveys the same meaning as
the word given in capital letter : MELEE

1) SIMPLE SONG

v 2) BRAWL
3) PRIMITIVE DANCE
4) KINDNESS

S~— N N N

AN : MELEE - 7311, QCETICHE eT013, R J1qsd fow | MG SoPIaSE] & (d)
kindness - ®R#RK™ | (b) Braw! - DFeT I510T A1 &, OGd58d 52| (a) simple song -
YR SBIO | (C) primitive dance WY JoF | o1 WPTASETR ST (b) X similar
word |



33) HIS SPEECH WAS OPTIMISTIC , BUT AT THE END OF IT HE STROKE A
NOTE OF CAUTION .

1) STRUT FOR A NOTE OF CAUTION

2) STROKES A NOTE OF CAUTION

3) STROKED A NOTE OF CAUTION
v 4) STRUCK A NOTE OF CAUTION

TN : Strike a note - Q3T idiom IR T - @TcaT ey KRR @Pg Mg 77| Strike W7
past form X% Struck

34) OSTENTATION - FIND THE WORD THAT CONVEYS THE SAME MEANING

1) PROTRUDING
2) DECORATIVE
3) WEALTHY

v 4) SHOWY

N— N N N

4T : Ostentation - QIPSEP/ISTGI | Option WETR /K - Showy - STIAR (SUPIE),
Wealthy - 51 | decorative - QERPTRD, Protruding - 25KO |

35) Antonym of SPOIL

IMPROVE
DESTROY
BLIGHT
BLEMISH

vl
2
3
4

N— N N N

AT : Spoil - WS/ | Option R &= blemish - /%0, Improve - Tafs 41,
destroy - K3 A1, blight - 51 31| 57012 WKW P (AP Spoil W32 Improve
RAIOTLS |

36) ROOT : STEM : BRANCH : ?

1) WOOD

v 2) LEAF

3) TREE

4) FERTILIZER

4 : The logical continuation of the pattern would be "LEAF."

In this analogy, the relationship between the words is hierarchical. A root is
the main or central part of a plant from which other parts, such as the stem,



branch, and leaves, arise. The stem is a supporting structure that connects

the root to the branches. The branch is a secondary division or extension of
the stem. Similarly, a leaf is a part of a plant that grows from a branch and

serves various functions like photosynthesis.

Therefore, the correct answer is "LEAF."

37) ANIMALS WHO EAT FLESH OF ANOTHER ANIMAL

1) MANEATER
2) BEAST

v 3) CARNIVOROUS
4) CANNIBAL

~— N N S

AT = B 21T /IS AT I FRAPA ATT@ Carnivorous I | TR 21T 31 7 41 O
SEGP I Omnivorous I |

38) LIKELY TO BREAK APART EASILY_

1) BREAKABLE
2) HARSH

v 3) BRITTLE
4) THIN

N— N N N

I : Likely to break apart easily - 3RS (9% 200 Q8d | Option TR &« -
breakable - 1 513 ©18T ¥4, thin - 2T, harsh - 3, brittle - [ |

39) INDIGENT - SELECT THE WORD MOST CLOSELY OPPOSITE IN
MEANING

1) SUBORDINATE
v 2) WEALTHY

3) INFERIOR

4) INSOLVENT

N— N N N

MM : Indigent - TG | option @R W& inferior - [d@®w, Subordinate - TE&3,
wealthy - 3T | insolvent - W% |

40) AT THE END OF THE PLAY ABOUT WOMEN'S LIBERATION, THE LEADING
LADY CAUTIONED THE AUDIENCE NOT TO JUDGE WOMANHOOD BY THE WAY
SHE DRESSES .

1) SHE DRESSED
2) SHE DRESSES



v 3) IT DRESSES
4) THEY DRESSED

A : The presence of actress being ‘more than one’, the subject of the
‘latter clause should be introduced with the plural form ‘they’.

41) WHO WAS THE FIRST CAPTAIN OF THE TEST MATCH OF BANGLADESH ?

1) GAZI ASHRAF HOSSAIN
v 2) NAYMUR RAHMAN

3) AKRAM KHAN

4) KHALED MASUD

N— N N N

14T : Naimur Rahman was Bangladesh's first Test captain, but his Test career
lasted only eight Test matches over three seasons before he was sacked
from captaincy in 2001 and as a national cricketer in December 2002.

42) THE ONLY FLOKLORE MUSEUM OF BANGLADESH IS LOCATED AT

1) NETROKONA
2) NAOGAON
v 3) SONARGOAN
4) BAJITPUR

N— N N N

4 : The Folk Art Museum, or Folk Art and Crafts Museum, was established
in Sonargaon in 1975, which has not only become a major attraction in the
city, but also for the entire region.

43) WHAT IS THE NAME OF ISRAEL’S INTELLIGENCE AGENCY ?

A - Mossad, Mossad also spelled Mosad, in full Mossad Merkazi le-Modiin
ule-Tafkidim Meyuhadim, (Hebrew: “Central Institute for Intelligence and
Special Operations”), one of the three major intelligence organizations of
Israel, along with Aman (military intelligence) and Shin Bet (internal security).



44) A'IS 30% MORE EFFICIENT THAN B . HOW MUCH TIME WILL THEY,
WORKING TOGETHER , TAKE TO-COMPLETE A JOB WHICH A ALONE COULD
HAVE DONE IN 23 DAYS ?

1) NONE OF THESE

v 2) 13 DAYS

3) 21 DAYS

4) 11 DAYS

4T : A alone takes 23 days to finish a job
since A is 30% more efficient

so B takes( A+30%(A)) days

i.e.,B takes (1.3*A=1.3*23) days to complete it alone [ since A=23]
(A+B)’s one day work = (1/23)+(1/(1.3*23))
(A+B)’s one day work= 1/13

hence it takes 13 days to finish the work.

45) TK. 800 BECOMES TK. 956 IN 3 YEARS AT A CERTAIN RATE OF SIMPLE
INTEREST. IF THE RATE OF INTEREST IS INCREASED BY 4%, WHAT AMOUNT
WILL TK. 800 BECOME IN 3 YEARS ?

1) NONE OF THESE

2) 1020.8

v 3) 1052

4) 1025

I : Let R denotes the initial annual rate of simple interest.
Hence from above data we get following relation,

800*(1 + 3*R/100) = 956

or 1 + 3*R/100 = 956/800

or 3*R/100 = 956/800 - 1 = 156/800

or R =156/8/3 = 6.5%

Therefore,

800 invested for 3 yrs at annual rate of (6.5% + 4% =) 10.5%
of simple interest , will amount to

= 800*(1 + 3*10.5/100)

= 800%(131.5/100)

= 8*131.5 = 1,052 [Ans]



46) HOW MAY SECONDS WILL A 500 METER LONG TRAIN TAKE TO CROSS A
MAN WALKING WITH A SPEED OF 3 KM/HR IN THE DIRECTION OF THE
MOVING TRAIN IF THE SPEED OF THE TRAIN IS 63 KM/HR ?

1) 40
v 2)30
3) 45
4) 25

Speed of the train relative to man = (63 — 3)km/hr
= 60km/hr

B 5
= (GOX E) m/sec

AL (5—30) m/sec.

3
.. Time taken to pass the man = (500 X 5—0> sec

= 30sec.

47) THE OUTPUT QUALITY OF A PRINTER IS MEASURED BY

1) DOT PER SQ. INCH

v 2) DOT PER INCH
3) DOTS PRINTED PER UNIT TIME
4) ALL OF THEM

~— N N S

I : The output quality of a printer is measured by Dots per inch. In
printing, DPI (dots per inch) refers to the output resolution of a printer or
imagesetter, and PPI (pixels per inch) refers to the input resolution of a
photograph or image. DPI refers to the physical dot density of an image
when it is reproduced as a real physical entity, for example printed onto

paper.

48) A PERSON HAS TO COVER A DISTANCE OF 6 KM IN 45 MINUTES. IF HE
COVERS ONE-HALF OF THE DISTANCE IN TWO-THIRDS OF THE TOTAL TIME;
TO COVER THE REMAINING DISTANCE IN THE REMAINING TIME , HIS SPEED
(IN KM/HR ) MUST BE :

1) 8
2)6



AT : Remaining distance = 3 km
And remaining time = 45 x 1/3 = 15 min = 1/4 hour.
Required speed = (3 x 4) kmph = 12 kmph.

49) WHAT DECIMAL OF AN HOUR IS A SECOND ?

0.0256
0.0025
0.00027
0.000126

1
2
v 3
4

~— N N S

T -
Hint:There are 60 seconds in a minute and 60 minutes in an hour. Therefore on multiplying all the
get the number of seconds in an hour. Hence we can divide one second by the total number of sec

hour to get the desired decimal value.
Complete step-by-step answer:
Total no. of seconds in a minute = 60

Total no. of minutes in an hour = 60

Therefore total no. of seconds in an hour = Total no. of seconds in a minute x Total no. of minutes
= 60 x 60 = 3600 seconds in an hour

1
Decimal value = —— = 0.
ecimal value 3600 0.00027

Therefore the decimal value of a second in an hour is 0.00027

Note: In such types of questions we have to remember the concept of conversion of minutes, seco

hours and convert them into decimal values accurately to get the desired answer.

50) WHAT IS REQUIRED WHEN MORE THAN ONE PERSON USES A CENTRAL
COMPUTER AT THE SAME TIME ?

1) DIGITIZER
2) LIGHT PEN



3) MOUSE
v 4) TERMINAL

A : Qutstation is needed when further than one person uses a central
computer at the same time. A computer outstation is an electronic or
electromechanical tackle device that's used for entering data into, and
displaying or publishing data from, a computer or a computing system. The
teletype was an illustration of an early day hardcopy outstation, and
anteceded the use of a computer screen by decades. A computer outstation
is an electronic or electromechanical tackle device that's used for entering
data into, and displaying or publishing data from, a computer or a computing
system. The teletype was an illustration of an early day hardcopy outstation,
and anteceded the use of a computer screen by decades.

51) IN A CLASS OF 60, WHERE GIRLS ARE TWICE THAT OF BOYS , KAMAL
RANKED SEVENTEENTH FROM THE TOP . IF THERE ARE 9 GIRLS AHEAD OF
KAMAL , HOW MANY BOYS ARE AFTER HIM IN RANK ?

1) 23

N

v

W

)
)
) 12
)

I
N =W

A - Given statement;

Total strength of class = 60

Boys : Girls=1:2

This means 20 boys and 40 girls are there in the class.

The rank of Kamal from the top is 17th.

which means 16 students are ahead of Kamal and nine are girls. So seven
are boys

. Total boys = 20

ahead of Kamal =7

Behind Kamal = 20 - 7 - 1(kamal) = 12 boys. (Kamal is a boy so he will also
be counted

Hence, there are 12 boys behind kamal.

52) HOW MANY SONS DOES X HAVE ? Statements:
1. Q and U are brothers of T.

2. R is sister of P and U.

3. Rand T are daughters of X.

1) ONLY  AND II



2) ONLY Il AND 111
3) ALL I, Il AND 1l
v 4) 1, I AND IIl TOGETHER ARE NOT SUFFICIENT

YT : From |, Il and Ill, we conclude that all P, Q, R, T and U are children of X.
Of these, Q and U are male while R and T are female. But the sex of P cannot
be determined.

53) THE AVERAGE OF FIVE CONSECUTIVE ODD NUMBERS IS 61. WHAT IS THE
DIFFERENCE BETWEEN THE HIGHEST AND LOWEST NUMBERS ?

1

[
H W N

I &

oo N O

5

Let's assume five consecutive odd numbers,
X, X+2,x+4,x+6,x+8

= Total sumof numbers =x+x+2 +x+4+x+6+x+8

=5x + 20
5z + 20
Mean = 61 =
5
= 5x = 285
= X =57

So, the lowest odd number x = 57

7

And the highest odd number=x+8=57+8=56

n

The difference between the highest and the lowest odd number = 65-57 =28

Hence, the difference between the highest number and the lowest number is 8.

54) WHAT IS THE LOCAL NAME OF SAINT MARTIN ISLAND ?

1) NARIKEL BAGAN

v 2) NARIKEL JIN JIRA
3) NARIKEL MON]JIRA
4) NARIKER BATASHA



A : Likely because one or more of the Arabs were Saint and whose name
could not be identified. Local names of the island are "Narikel jinjira" which
means 'Coconut Island’, and "Daruchini Dwip" which means "Cinnamon
island".

55) THE RATIO OF TWO NUMBERS IS 3:4 AND THEIR H.C.F. IS 4 . THEIR L.C.M.
IS :

1) 16
2) 12
3) 24
v 4) 48

A : Let the numbers be 3x and 4x.
Then, their HCF =x

So, x=4 .... given

So, the numbers are 3x=12 and 4x=16.
LCM of 12 and 16 is 48.

56) WHEN WAS “MISSIONARIES OF CHARITY” ESTABLISHED BY MOTHER
TERESSA ?

1950
1954
1953
1951

v1)
2)
3)
4)
4 : The Missionaries of Charity Center in Calcutta was founded by Mother
Teresa in 1950. The center was established to provide support to those in
need. Since its foundation, the order has expanded and now comprises 4,500
nuns actively working in more than 600 missions across 133 countries.

57) WHICH FILM IS MADE ON THE PARTITION OF 1974 ?

1) ABAR TORA MANUSH HA
2) JUDDHASHISHU
v 3) CHITRA NAIDR PARE

)
)
)
4) NADIR NAAM MADHUMATI

AT ;oA TR AT’ BIATOR EIRPICIA AR QB0 5a5a | Sowb I gy B[
IR5a (TR v @QW oG AR NEaIRE GIORT AR ] N9 P | Y89Q AI(I]
PIRGTsT GRITAN #F NI FZHTR G @ AR RS, BT I3 2R0S @I TWZ |



58) CD-ROM IS A___

1) MAGNETIC MEMORY

2) MEMORY REGISTER

3) SEMICONDUCTOR

v 4) NONE OF THESE

Iy : CD-ROM, abbreviation of compact disc read-only memory, type of
computer memory in the form of a compact disc that is read by optical
means. A CD-ROM drive uses a low-power laser beam to read digitized
(binary) data that has been encoded in the form of tiny pits on an optical
disk.

59) WHO BECAME THE FIRST CRICKETER TO SCORE FOUR SUCCESSIVE ONE
DAY INTERNATIONAL CENTURIES DURING THE WORLD CUP 2015 ?

1) MARTIN GUPTILL

v 2) KUMAR SANGAKKARA

3) VIRAT KOHLI

4) HASHIM AMLA

AT 1 205¢ R s RIPI QAIR FIR AN S [RPIPTH T, SIS fFpeod
BT AT INCHHIE A AP TP TTal bR igefR I RIEG siced |

60) WHICH ONE IS THE BIGGEST RELIGIOUS AND SOCIAL FESTIVAL OF THE
CHAKMAS ?

v 1) BIJHU
2) SANGRAI
3) SANDREY
4) WANGALA

AT : IAREACTR J20H - (ST 5T | GG IRT SRR A1 G | STRT Goranfiod
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61) WHICH OF THE FOLLOWING COUNTRY DOES NOT BELONG TO G-8 ?

SWITZERLAND
GERMANY
ITALY

FRANCE

vl
2
3
4

N— N N N



A : The Group of Eight (G8) refers to the group of eight highly industrialized
nations—France, Germany, ltaly, the United Kingdom, Japan, the United
States, Canada, and Russia.

62) IF A =26, SUN = 27, THEN CAT =7

1) 27
2) 58
v 3)57
4) 24

I : Given, A = 26, B = 25, ... , Y=2,Z=1.
So,SUN=S+U+N=8+6+13 =27
Similarly, CAT=C+A+T=24+26+7 =57

63) THE AGES OF A AND B ARE IN THE RATIO 3:1 . FIFTEEN YEARS HENCE,
THE RATIO WILL BE 2:1 . THEIR PRESENT AGES ARE :

1) 30 YEARS, 10 YEARS
v 2) 45 YEARS, 15 YEARS

3) 60 YEARS , 20 YEARS

4) 21 YEARS , 7 YEARS

N— N N N



Given, ratio of ageof AandB =3:1
Let the ages of A and B be 3x and x, respectively.

Now, 15 years hence,
ageof A =3x+15and age of B =x + 15.

Then,
3x+15 :g
x+15 1

g = 3x+15=2(x+15)
= 3x+15=2x+30.

Transposing X terms to one side, we get,
= 3x-2x=30-15

= x =15.

.. A'sage = 3 x 15 = 45 years

and B's age = x = 15 years.

64) IN WHICH UNIVERSITY DOES THE PHYSICIST OF BANGLADESH DR. M
ZAHID HASAN WORK ?

v 1) PRINCETON
2) HARVARD
3) CHICAGO
4) CORNELL

A : Zahid Hasan is the Eugene Higgins Professor of Physics at Princeton
University. His primary research area is quantum physics and quantum
topology.

Princeton University is a private lvy League research university in Princeton,
New Jersey. Founded in 1746 in Elizabeth as the College of New Jersey,
Princeton is the fourth-oldest institution of higher education in the United
States and one of the nine colonial colleges chartered before the American
Revolution. The institution moved to Newark in 1747, and then to the current



site nine years later. It officially became a university in 1896 and was
subsequently renamed Princeton University.

65) IF M AND N ARE WHOLE NUMBERS SUCH THAT MN = 121, THEN THE
VALUE OF (M-1)N+1 1S :

1) 10
2) 121
3)1
v 4) 1000
m" = 121 = (11)°
Q07T Som = 11;n = &

2
L (m-1)"" = (11-1)*"" = 10° = 1000

66) WHAT IS THE NAME OF THE BIGGEST NGO IN THE WORLD ?

1) GRAMEEN BANK
v 2) BRAC

3) ASA

4) PROSHIKA

T : BRAC states that it employs over 90,000 people, roughly 70 percent of

whom are women, and that it reaches more than 126 million people with its
services.

67) (2V27-V75+V12) IS EQUAL TO :

1) 23

2) 3
) 3V3
) 43

v 3
4

I : The numbers given here are irrational so it can further be simplified
only. 2vV27-V75+v12 = 2V3x3Xx3-V3x5%5 +vV2x2x3 = 2%x3V3-5V3+2V3 =
6v3-5v3+2v3

= 1V3+2V3

= 3V3

= 5.20 (approx.)



68) TWO NUMBERS ARE SUCH THAT THE RATIO BETWEEN THEM IS 4:7 . IF
EACH IS INCREASED BY 4, THE RATIO BECOMES 3:5 . THE LARGER NUMBER
IS :

1) 64
2) 48
v 3) 56
4) 36
Let the numbers be 4x and 7x
Then,
4dr + 4 3
= —_ —
Tx+4 5
T : <54z +4)=3(Tx +4)
Sr=2=8
. Larger number :
=7x
=7x8
=56

69) WHAT MATHEMATICAL OPERATION SHOULD COME AT THE PLACE OF ‘7
IN THE EQUATION:276-12+4+2 =11

=

A
(%Y

-l> N
X +

(AT : 2?76—-12+4+2=11

= 276—3+2=11

= 276—-1=11

= 276=11+1=12

= 7 should be replaced by x

70) THE PERCENTAGE INCREASE IN THE AREA OF A RECTANGLE, IF EACH OF
ITS SIDES IS INCREASED BY 20%, IS :



Let original length = x metres and original breadth = y metres
Original are = (zy) m”

120 6
Newlength = (WI!) m = (g:v) m
120 6
New breadth = (my> m = (gy) m

N (6 6 2 (36 m?
ewarea= | £T X gy |m" = | 5-TY

The difference between the original area = zy

and new area 36 TYis
A ; 95 Y

AV 25 ) Y

. Increase %

11 1
(25zy X = X 100) %
= 44%

71) THE BASIC OPERATIONS PERFORMED BY A COMPUTER ARE

1) STORAGE AND RELATIVE

2) LOGICAL OPERATION

3) ARITHMETIC OPERATION
v 4) ALL OF THEM

N— N N N

Iy : THE BASIC OPERATIONS PERFORMED BY A COMPUTER ARE-STORAGE
AND RELATIVE, LOGICAL OPERATION, ARITHMETIC OPERATION

72) ARRANGE THE FOLLOWING IN A LOGICAL ORDER :
1. Euphoria 2. Happiness 3. Ambivalence 4. Ecstasy 5. Pleasure.

1)4,1,3,2,5
2)1,4,2,5,3
v3)32514

)
)
)
4) 2,1, 3,4,5



4 : All the given words stand for 'joy', but the intensity increases in the
order- Ambivalence, Happiness, Pleasure, Euphoria, Ecstasy. Thus, the
correct order is 3,2,5,1,4.

73) The smallest 6-digit number exactly divisible by 111 is

1) 110101
2) 110011
v 3) 100011

4) 111111

A : The smallest 6-digit number is 100000

On dividing 100000 by 111, we get 100 as remainder.
So, the number to be added = (111 - 100) = 11
Hence, the required number = 100011

74) AUNIK, KAMAL AND JAMAL INVESTED TK. 8000, TK. 4000 AND TK. 8000
RESPECTIVELY IN A BUSINESS . AUNIK LEFT AFTER SIX MONTHS. IF AFTER
EIGHT MONTHS, THERE WAS A GAIN OF TK. 4005, THEN WHAT WILL BE THE
SHARE OF KAMAL ?

890

1602
1335
1780

v 1)
2)
3)
4)

4 : Aunik : Kamal : Jamal

= (8000 x 6) : (4000 x 8) : (8000 x 8)

= 48000 : 32000 : 64000

=3:2:4

So, share of Kamal = 4005 x (2/9) = 445 x 2 = 890

75) CYCLONE IS RELATED TO ANTICYCLONE IN THE SAME WAY AS FLOOD IS
RELATED TO ?

1) RIVER

2) HAVOC

3) DEVASTATION
v 4) DROUGHT

40T : DROUGHT.
An anticyclone is a weather system characterized by high atmospheric
pressure and the rotation of air around a central region. It is often associated



with calm and dry conditions, clear skies, and stable weather patterns.

Similarly, a cyclone is a weather system characterized by low atmospheric
pressure and the rotation of air around a central region. Cyclones are often
associated with stormy weather, strong winds, and precipitation.

Applying this analogy, a flood is related to a drought. While a flood involves
an excessive amount of water inundating an area, a drought refers to an
extended period of abnormally dry weather with a severe lack of
precipitation. Both are extreme weather conditions, with flood and drought
representing opposite ends of the spectrum in terms of water availability.

76) PROPERLY ARRANGED DATA IS CALLED

I : The term "information" refers to knowledge or data that is
communicated, received, or processed in some form. It can include facts,
details, statistics, instructions, or any content that conveys meaning or
provides understanding about a particular subject or situation.

Information is often organized, structured, and transmitted through various
mediums such as spoken language, written text, images, symbols, or digital
formats. It plays a crucial role in human communication, decision-making,
problem-solving, and the acquisition of knowledge.

In the context of technology and computing, information is often represented
and manipulated in the form of binary digits (bits) and is processed by
computers to perform tasks, store data, and facilitate communication.

77) WHO IS KNOWN AS ‘THE FATHER OF GREEN REVOLUTION’ ?

NORMAN BORLAUG
JOSEPH WATSON
RACHEL CARSON
HANRY A WALLACE

v
2
3
4

~— N N S

14 : Norman Borlaug, the American plant breeder, humanitarian and Nobel
laureate known as “the father of the Green Revolution”. We spoke to Dr.
Borlaug's granddaughter Julie Borlaug about his life and legacy and how the
momentous year was celebrated.



78) IF 25% OF A NUMBER IS SUBTRACTED FROM A SECOND NUMBER, THE
SECOND NUMBER REDUCES TO ITS FIVE-SIXTH .WHAT IS THE RATIO OF THE
FIRST NUMBER TO THE SECOND NUMBER ?

1)
v 2)
3)
4)

3:2
2:3
1:3
NONE OF THESE
AT : A = First Number
B = Second Number

B-1/4A =5/6B
B =1/4A + 5/6B

1/6B = 1/4A
4B = 6A
2B = 3A

2/3B=AAB =23

79) THE TWO KINDS OF MAIN MEMORY ARE :

1) RANDOM AND SEQUENTIAL
2) ALL OF THEM

v 3) ROM AND RAM
4) PRIMARY AND SECONDARY

~— N S S

Iy : Computer memory is of two basic types - Primary memory(RAM and
ROM) and Secondary memory (hard drive, CD, etc). Random Access Memory
(RAM) is primary-volatile memory and Read-Only Memory (ROM) is primary-
non-volatile memory.

80) WHICH OF THE FOLLOWING STORAGE DEVICES CAN STORE MAXIMUM
AMOUNT OF DATA?

1) FLOPPY DISK
v 2) HARD DISK
3) COMPACT DISK
4) MAGNETO OPTIC DISK

~— N S S

I : Hard Disk is a storage devices can store maximum amount of data.
hard disk drives are all examples of backing storage devices. The Main
Memory contains two types of memory chip called ROM and RAM which hold
program instructions and data. Computers store and process data using



binary numbers. A hard disk drive (HDD), hard disk, hard drive, or fixed disk,
is an electromechanical data storage device that uses magnetic storage to
store and retrieve digital information using one or more rigid rapidly rotating
disks (platters) coated with magnetic material.

81) CHOOSE OUT THE ODD ONE.

1) UNICEF

v 2) SAARC

3) WHO

4) IMF

A : The South Asian Association for Regional Cooperation (SAARC) is an

economic and political organization of eight countries in South Asia. It was
established in 1985 when the Heads of State of Bangladesh, Bhutan, India,
Maldives, Nepal, Pakistan and Sri Lanka formally adopted the charter. And
the other organization same type. except SAARC.

82) WHO MADE HOSSAINI BUILDING (IMAM BAN) ?

1) MIR HAMZA

2) MIR MAKBUL

3) MIR JAFAR
v 4) MIR MURAD

~— N S S
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83) IF SELLING PRICE OF AN ARTICLE IS 4/3 OF ITS COST PRICE , THE PROFIT
IN THE TRANSACTION IS :

1) 25 1/2%
2) 20 1/2%
3) 16 2/3%
v 4) 33 1/3%

MY : Let CP =1 SP = 4/3
Profit = 4/3 - 1= 1/3.
So % profit = (1/3) *100 = 33.33%.



84) WHICH ONE IS THE LAST MEMBER STATE OF THE UNITED NATIONS ?

1) ANDORRA

v 2) SOUTH SUDAN

3) EAST TIMOR

4) SIERRA LEON

MY : The organization was founded by representatives of 51 countries in
1945, and today counts 193 member states. The most recent state to join is
South Sudan, which was recognized as an independent nation in 2011.

85) WHICH BANGLADESHI PLAYER'S NAME HAS BEEN INCLUDED IN THE
GUINNESS BOOK OF RECORD ?

1) SALMA KHATUN
2) SHARMIN AKHTER
3) RANI HAMID

v 4) ZOBAIRA LINU

MY : Zobera Rahman Linu is a Bangladeshi table tennis player. She won a
record 16 national championships during 1979-2001. She is the recipient of
Bangladesh National Sports Award (1999) in the table tennis category.

86) WHICH OF THE FOLLOWING ORGANIZATIONS HAS HEAD OFFICE
LOCATED AT DHAKA ?

1) CIRDAP
2) UNICEF
3) BIMSTEC
v 4) BIMSTEC & CIRDAP

~— N S S

Iy : Dhaka, Bangladesh The permanent secretariat is in Dhaka,
Bangladesh.

Bay of Bengal Initiative for Multi-Sectoral Technical and Economic
Cooperation. Bay of Bengal Initiative for Multi-Sectoral Technical and
Economic Cooperation BIMSTEC

Chameli House, 17 Topkhana Road, Dhaka 1000 Centre on Integrated Rural
Development for Asia and the Pacific, address



87) 15 MEN TAKE 21 DAYS OF 8 HOURS EACH TO DO A PIECE OF WORK.
HOW MANY DAYS OF 6 HOURS EACH WOULD 21 WOMEN TAKE , IF 3 WOMEN
DO AS MUCH WORK AS 2 MEN ?

1) 20

2) 25

3) 18

v 4) 30
Given:
15 men take 21 days of 8 hours each to do a piece of work
3 women would do as much work as 2 men
Formula Used:
M\D\H, _ M.D;H,
W, = T W,
Where,
M = Number of men
D = Number of days
H = Number of hours
2R - W = Work

Calculation:

Let the required time be D days
According to the question

3 Women =2 Men

So, 21 Women = 14 Men

Now using the MDH formula, we get

— 15x21x8 __ 14x6xD

1 1

= D =30 days
. The required number of days is 30.



88) A PERSON’S PRESENT AGE IS TWO-FIFTH OF THE AGE OF HIS MOTHER.
AFTER 8 YEARS , HE WILL BE ONE-HALF OF THE AGE OF HIS MOTHER . HOW
OLD IS THE MOTHER AT PRESENT ?

1) 48 YEARS
2) 32 YEARS
v 3) 40 YEARS
4) 36 YEARS

~— N N S

I : Let the age of the person’s mother be ‘a’ units. So, age of the person
= (2/5)a After 8 years, age of the person’s mother = ‘a + 8’ units. So age of
the person after 8 years = (a + 8)/2

According to question:

(2/5)a + 8 = (a + 8)/2

=> (2a + 40)/5 = (a + 8)/2

=> 4a + 80 = 5a + 40

=>a =40

So, the present age of his mother is 40 years. Hence, '40 years’ is the correct
answer.

89) THE BRAIN OF ANY COMPUTER SYSTEM IS

1) MEMORY
2) CONTROL UNIT
v 3) CPU
4) ALU
4 - "CPU" stands for Central Processing Unit. It is the primary component
of a computer system responsible for executing instructions and performing

calculations. The CPU acts as the "brain" of the computer, carrying out the
majority of the processing tasks required for the system to function.

The CPU is composed of several key elements, including arithmetic logic
units (ALUs), control units, and registers. The ALUs perform mathematical
operations and logical comparisons, while the control unit manages the flow
of instructions and data within the CPU and coordinates the activities of other
hardware components.

The CPU retrieves instructions and data from the computer's memory,
performs the necessary computations or operations, and then stores the
results back in memory. It executes instructions in a sequential manner,



following the program's instructions step by step.

The performance of a CPU is often measured by factors such as clock speed,
number of cores, cache size, and architecture. CPUs come in different types
and models, with varying capabilities and specifications, and they are a
critical component in determining the overall speed and efficiency of a
computer system.

90) WHO IS THE PAINTER OF THE FAMOUS PAINTING ‘THE PERSISTENCE OF
MEMORY’ ?

1) MICHEL ANGELO

2) EDVARD MUNCH

3) LEONARDO DA VINCI
v 4) SALVADOR DALI

~— N N S

I : Salvador Domingo Felipe Jacinto Dali i Domenech, Marquess of Dali of
PlUbol 11 May 1904 - 23 January 1989) was a Spanish surrealist artist
renowned for his technical skill, precise draftsmanship, and the striking and
bizarre images in his work.

91) THE TWO MAJOR TYPES OF COMPUTER CHIPS ARE

1) PRIMARY MEMORY CHIP

2) EXTERNAL MEMORY CHIP

3) MICROPROCESSOR CHIP
v 4) BOTH B AND C

~— N S S

MY : The two major types of computer chips are Primary memory chip and
Microprocessor chip. Primary storage, also known as main storage or
memory, is the area in a computer in which data is stored for quick access
by the computer's processor. The terms random access memory (RAM) and
memory are often as synonyms for primary or main storage. A
microprocessor, sometimes called a logic chip, is a computer processor on a
microchip. The microprocessor contains all, or most of, the central
processing unit (CPU) functions and is the "engine" that goes into motion
when you turn your computer on.

92) WHERE IS BIRMINGHAM PALACE SITUATED ?

v 1) LONDON
2) CARDIFF



3) BIRMINGHAM
4) GLASGOW

A : There is no "Birmingham Palace" located in Birmingham, United
Kingdom or any other known location. The official residence of the British
monarch is Buckingham Palace, which is situated in London, specifically in
the City of Westminster. Buckingham Palace serves as the administrative
headquarters and the primary residence of the reigning monarch of the
United Kingdom. It is a significant landmark and a popular tourist attraction
in London.

93) WHICH OF THE FOLLOWING IS NOT AN INPUT DEVICE ?

1) VOICE RECOGNITION DEVICE

v 2) COM ( COMPUTER OUTPUT TO MICROFILM )
3) OPTICAL SCANNERS
4) OCR

N— N N N

AT : Computer output to microfilm (COM) is a process that involves
converting computer-generated information into a microfilm format.
Microfilm is a method of storing data on a small strip of photographic film,
allowing for long-term preservation and easy retrieval.

Here's an overview of the process of computer output to microfilm:

Data Preparation: The computer-generated information, such as documents,
reports, or records, is prepared for conversion to microfilm. This may involve
organizing the data, formatting it appropriately, and ensuring that it is ready
for the conversion process.

Microfilm Conversion: The prepared computer output is then converted into
microfilm using specialized microfilm equipment. The conversion process
involves capturing an image of the computer output onto a microfilm reel.
This can be done through optical imaging techniques or by directly recording
the output onto the film.

Indexing and Metadata: To facilitate retrieval and organization of the
microfilm records, indexing and metadata information may be added. This
includes labeling or indexing the film reel with relevant details, such as date,
document type, or other identifying information.



Storage and Archiving: Once the computer output has been converted to
microfilm, it is typically stored in a controlled environment to ensure long-
term preservation. Microfilm reels are often stored in specialized cabinets or
archival storage facilities that protect the film from degradation, light, and
other damaging factors.

Retrieval and Viewing: When needed, the microfilm records can be retrieved
and viewed using microfilm readers or scanners. These devices allow users
to access and view the information stored on the microfilm. Advanced
microfilm readers may even provide options for printing or digitizing the
microfilm content.

Computer output to microfilm has been widely used in various industries and
applications, especially before the widespread adoption of digital storage
methods. It offers benefits such as long-term preservation, reduced storage
space requirements, and the ability to access and retrieve information
without relying on the original computer system.

94) CHOOSE THE NUMBER PAIR/GROUP WHICH IS DIFFERENT FROM OTHERS

1
2
3

va

) 32-48
) 64-80
) 50-66
) 63-77
Iy : Option A, B, C followed by plus 16 but D is except. So D is different

95) WHICH OF THE FOLLOWING IS SITUATED TO THE EAST OF BANGLADESH
?

v
2
3
4

TRIPURA
MEGHALAYA
SIKIM
MONGOLIA

~— N N S

I : Bangladesh is Located in the north-eastern part of South Asia. The
majestic Himalayas stand some distance to the north, while in the south lays
the Bay of Bengal. West Bengal borders on the west and in the east lies the
hilly and forested regions of Tripura, Mizoram (India) and Myanmar.



96) A, B AND C ARE SISTERS . D IS THE BROTHER OF E . AND E IS THE
DAUGHTER OF B. HOW IS A RELATED TO D ?

Iy : E is the daughter of B and D is the brother of E.
So, D is the son of B.

Also A is the sister of B.

So, A is the maternal aunt of D.

option D

97) WHICH OF THE FOLLOWING IS NOT PROCESSING ?

1) MANIPULATING
2) CALCULATING
3) ARRANGING

v 4) GATHERING
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98) STORAGE CAPACITY OF MAGNETIC DISK DEPENDS ON

1) BITS PER INCH OF TRACKS

2) DISK PACK IN DISK SURFACE

3) TRACKS PER INCH OF SURFACE
v 4) ALL OF THEM

N— N N N

4T : STORAGE CAPACITY OF MAGNETIC DISK DEPENDS ON TRACKS PER
INCH OF SURFACE, BITS PER INCH OF TRACKS,DISK PACK IN DISK SURFACE .

99) WHICH OF THE FOLLOWING IC WAS USED IN THIRD GENERATION OF
COMPUTERS ?

1) LSI
2) MSI
3) SSI
v 4) BOTH AAND B

N— N N N



4T : SSI and MSI IC was used in third generation of computers. SSI, MSI, The
first integrated circuits contained only a few transistors and so were called
“Small-Scale Integration (SSI). They used circuits containing transistors
numbering in the tens. They were very crucial in the development of early
computers.

100) ONE PIPE CAN FILL A TANK THREE TIMES AS FAST AS ANOTHER PIPE. IF
TOGETHER THE TWO PIPES CAN FILL THE TANK IN 36 MINUTES, THEN THE
SLOWER PIPE ALONE WILL BE ABLE TO FILL THE TANK IN :

1) 81 MIN
2) 108 MIN
v 3) 144 MIN
4) 192 MIN

I : Let the slower pipe fill the tank in x minutes.
So, the faster can fill the tank in x/3 minutes.

1/x + 3/x =1/36

= X = 144 minutes
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